Idprax uar anroputm 1

©reraceH TOOH Aapaannbir gapaax apraap apamoan.
Arr {4, 3, 2, 1} napaannbir wanras.
arr[ 1 ]-9ac arr[ 3] xypTan

Ox 1934 3-blH OMHEX 3NEMEHTY Y AuiAr wanras. 4 > 3 yump 4 Har 6aip yparwnaH 3, 4-uitH 6anpaHL, opHo.

Loop Invariant

In the beginning, cnly the
first element is "sorted".
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Each element is sorted
and placed it its
currently “correct” spot,
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Each turn, the subarray
of sorted elements
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-..Lintil the entire array is
sored

CY YN XYypTan Hb wanrax gyycaxag gapaanan apambanaracaH barHa.
Oponrt

DapaannbiH ypt N erergexe. 1 <= N <= 1000.

LapaaruiiH MepeHa, fapaannnblH ruwyy n 3airaap TycraapnaraaH ererneHse.

-1500 <= papaannbiH ruwyyH <= 1500.



Mapant

[33px aprbir awwrnaH gapaannsir 3pambanaH rapra.
Kunwaa
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OpuyyncaH : MoHron Oloy cypryynuinH 11-p aHrumH cypary 3.LLanmar
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